Michael’s Program

9 couplings x; ---> 9 random numbers.

Kw, Kz with up limit 1; Br(inv)-->(0,1); others
no boundaries.

event generator --> (k1,k2,K3...K9); for each
event, calculate the likelihood as the weight.

large statistics --> distribution of each random
numbers (p.d.f. of k;) --> give the mean value
and 68% interval.




global fit -- Michael’s program + w/ sys error

baseline

250 GeV: 250 fb!
500 GeV: 500 fb!
I e\ = 1000 fh! 1

luminosity upgrade

250 GeV: 1150 fb!
500 GeV: 1600 tb!
TeV: 2500 tb!

MH = 125 GeV
P(e-,e+)=(-0.8,+0.3) @ 250, 500 GeV
P(e-,e+)=(-0.8,+0.2) @ 1 TeV
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(*) Hup not included in Michael’s program, as same as those from MI fit

0<1—kry <0.003

0<1—-Krz <0.004




